Practice Differentiation, Math 8, Dr. M. Bohner/Mrs. L. Pleimann.

Sep 20, 2000.
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f(x) =sin®z + cos® &
flz)=m++3

f(z) = 2’2?

fla) =2
fl@)=a2+5bz %+ iz
f(z) = |z — 6

f(t) = cos(2t)

f(6) =sin®f

fr) = =

fy) =5 -2

f(t) = 3647

g(u) = (u®+ 3)(u - 5)
flz) =2°(32° — 1)
fla) = 25

f(z) = tan(y/z)

f(t) = (6t —7)3(8% + 9)?
f(z) = 3

f(z) =2z

flz) =25
fl@)=+v1-2z

f@) =35

f(@) =25z +3

fla) =322 -z

g(z) = 67

hz) = vI—22

m(y) = y*\/y
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s(y) =y
s(t)=(t—3)(#*+1)
flw) = b=t
fz) = (22 +6)7
fla)=5+35
f(@) = (7—3a%)?
f(t) = 2tcost

flz) = 0

1) = &

g(z) = /353

f(z) = 2% cosz
flz)=vz+ %
f(@) = (2? — sin(32))°
f(z) = cos(sin \/7)
f(z) = 5

flz) =m?

f(x) = cos?(5z)

f(z) = 2* —22° + 522 — 3
f(z) = 2®sina

flz) =53

f(@) = (2% +3)°
fz) = Va?

flx) = /&5

() = cos(1 — 22)
f(z) ==

fl2) =5

fz) = 2*(a® — 1)?
f(z) =23

f(z) = sin(sin(z))
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f(z) = (2% + 2+ 1)
fla) = e

f(z) = 2?sinz
fl@)= (2" +1)7s
f(z) = sin*(z) + sin(z?)
f(z) = zsinz + cosxs
F(z) = zcot(27)

f(z) = sin(2? + 1)

fl@) =5
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flz) = Va2 + x4z
f(z) = vtana
f(x) = cos?(z® + 1)
fla) = 255
f(z) = 2% + sine

f(.’E) =% - wlz
flz) = =535
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flz) = va? — 4z +1

flx) = —=3z*+22 -2 +4
i

s(t) = 4nt3 + 72t22 — Lta?

flz) = (z* +2)°

z Jr—2x>

l‘) = 4

s(t) = cos(t® +t + )
s(t) = el d

fla) = 25

flz) =243

f(z) = (z+3)%(z —2)
flz) = =%

f(z) = #5

f(z) = (23 — 222 + 1)1
f(x) = (322 +7)(2® — 2z + 3)
flw) = o)

f(z) = %

f(x) = 2%cosz

f(z) = sin(2z — 1)

f(z) = 3%

f(z) = zsinz

f(z) =5cos’x +2sin’z
f(z) = zsin(2z)

flz) = VaZ+1

f(2) = e

f(x) = sin(z) tan(z)
f(z) = tan(sin z)



